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1) (n-n)/4 =0€ Z i.e p reflexive.
2) foe all (n,m)inp then (n-m)/4 inZ
then (m-n)/4 =-(n-m)/6inZ i.e p symmetric.

3) (nm)inp and (m,)inp Ol pa Al
then (n-m)/4 inZ and(m-l)/4 inZ
i.e  (n-m)/4 +(m-1)/4 =(n-1)/4dinZ
then p transitive
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teh SRS J gl (980 g
0]={ ...,-12,-6,0,6, 12, ,, }
[1]1={ ..., -11,-5,1,7,13 ...}
[2]1={ ..., -10,-4,2,8, 14, ...}
31={...,-9,-3,3,9,15,...}
4] =[0] =[8] =....
5]=[1]=1[9] =....
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)ae[a], V aeX
i) [x]=[y] €> xpy
iii) [x] Z[y] =2 [X] N[y] =¢
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1) preflexive ieapa i.e a€[a]

i) let [x]=[y] , x€[x ] ie x€[y]ie X py
Xpylet b€E[Xx ] i1.e bpX

Xpylie bpy ileb€Jy]
l.e [x] subset from [y].

[y] subset from [x] : o bl oSay Jially

SN )l
paal g A3) i Lanad ) N(X)=(142%) & M N----> N7 s )3y *

RSP TRPEEN

Xi|

C.

1) et f(x1) = f(x,)
2X1 +1 =2X,+1 1.6 X1 =X
e f 1-1

ii) f(0)=1, f()= 3, f2)=5, f3)= 17,....
I.e f notonto.
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foi =f = iofol @l x€ SIS j(x) = x saslaly
. Al

e,

(foi) (x) =1(i(x)) = 1(x)



(iof) (x) = i(f(x)) = f(x)

l.e foi=f=lof
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let f(x,) = f(Xy)

X242 = X, +2



ie X = X° i.e X;= X
e f 1-1 ;
e Al aldy

Y=x*+2 ie x=(y-2)"
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(%) = (y-2)"".
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R={(1,2),(2,1),(2,3), (3.3)}
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